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#include <stdio.h>

#include <stdlib.h>

int recFun(int);
int main(void) {
printf("%d\n", recFun(12345));

return 0;

}

int recFun(int n) {
if (n<10)
return n;
else
return recFun(n/10) + n%10;

}
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#include <iostream>
#include <cstdlib>
#include <string>
using namespace std;

struct data {
string name;
int a, b;

}s
void funl(struct data), fun2(struct data *), fun3(struct data);

int main(void) {
struct data man={"John", 11, 33}, lady={"Linda", 22, 44};
cout<< "After process..." <<endl;
fun2(&man);
fun3(lady);
funl(man);
funl(lady);

return 0;
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void funl(struct data in) {
cout<< "Name: " << in.name << endl;
cout<< "a=" << in.a <", ";
cout<< "b=" << in.b <<endl;

}

void fun2(struct data *ptr) {
int tmp;

tmp = ptr—>a;
ptr->a = ptr->b;
ptr->b = tmp;

}

void fun3(struct data in) {
int tmp;

tmp = in. a;
in.a = in.b;
in.b = tmp;
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recFun(12345)
=recFun(1234) + 5
=recFun(123) +4+5
=recFun(12) +3+4+5
=recFun(l) +2+3+4+5
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After process...
Name: John
a=33, b=11
Name: Linda
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import os.path

filel
file2

while

input("Input a file name: ")
input(" Input the other file name: ")

not os.path. isfile(filel):

print("The file does not exist!")
filel = input("Input a file name again: ")

while os.path. isfile(file2):
answer = input("The file existed, Overwrite it? y/n? ")
if answer == 'n’ or answer=="N:
file2 = input("Input a file name again: ")
else:
break
fileObjectl = open(filel, "r")
fileObject2 = open(file2, "w")

content = fileObjectl. read()
fileObject2. write(content)

fileObjectl. close()
fileObject2. close()
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codeGen(int passwd){
int m=1, p= passwd;
m *=p % 10; p /= 10;
m *=p % 10; p /= 10;
m*=p % 10; p /= 10;
m*=p % 10;

m %= 10;

return passwd * 10 + m;

main(){
int passwd; char continuation;
do{
printf("FRAFEE: ");
scanf("%d", &passwd);
1f (passwd > 1000 && passwd < 10000)
printf("%d\n", codeGen(passwd));

printf("EEEEH A (y/n)?");

scanf(" %c", &continuation);
} while (continuation = 'y' Il continuation = 'Y');
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9B=ldouble arrMean(int arr[], int n){

10
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int sum = 0;
for (int 1 =0; 1 < n; 1++)
sum 4= arr[i];

return (double)sum / n;

}
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18P int* arrBubble(int arr[], int n){
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int temp;
for (int 1 =0; 1 <n - 1; i++) {

1f (arr[]] > arr[] + 1D
temp = arr[j];
arr[j] = arr[j + 1];
arr[j + 1] = temp;

}
}

return arr;

for (int 1 =0; 3 <n-1-1;
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330E=1nt main(){

34 it * arr n;

35 printf("SFEIAFETESL:

36 scanf( '%d", &n);

37

38 arr = new int[n];

39 srand( (unsigned)time(NULL)); / | BF R ELEL
40

41 for (int 1 = 0; 1 < n; 1+H){

47 int r = (rand()+1) % 100;

43 *(arr + 1) = 1; / [ FEIT [T
44 }

45

46 printf("*FE¥H5: %.2f\n", arrMean(arr, n));
47 arrBubble(arr, n);

48

49 for (int 1 = 0; 1 < n; 1+){

50 printf("%d ", arr[i]);

51 }
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i elass motor{
private String brand;
private int fuel;
private int speed;
private int km;

motor (String b, int f, int s){
brand = b;
fuel = f;
speed = s;

}

public int calKM() {
return fuel*15;
}

public wvoid show() {
System.out.println ("HHSHE © "+brand+"\njfi - "+fuel+"\nif[T : "+speed+" \no[{TEIA B "+calKM() ) ;
}

public int getFuel () {
return fuel;

}

public int getSpeed() {
return speed;
}
}

class eletricMotor extends motor{
private int seat;

eletricMotor (String b, int f, int s, int seat) {
super(b, [, s);
this.seat = seat;

}
public int calKM() {

return getFuel () *20;
}
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5 class raceMotor extends motor{
private String type;

raceMotor (String b, int f, int s, String type} {
9 super (b, £, =s);

this.type = Lype;

51 }

public int calkM() {
if (getSpeed() > 60) return getFuel () *10;
else return getFuel()*12;

t

59 public class K107 {
public static woid main(String[] args) {

61 motor ml = new motor("Motor 1", 10, 30):
62 eletricMotor m2 = new eletricMotor("EletricMotor 1", 10, 30, 2);
; raceMotor m3 = new raceMotor ("RaceMotor 1", 10, 30, "SNOT14");
64 ml.show();

m? .show ()

m3.show();
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